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QUESTION 1

Click the Exhibit button.
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You are using the SnapCenter Plug-in for Microsoft SQL Server to back up a Microsoft SQL Server. Backups and
restores are functioning. However, restores for DB2 are slower than the other databases. The storage layout is shown in
the exhibit. DB2 is significantly larger than other databases in the environment.

Referring to the exhibit, which two actions should be performed to decrease restore times for DB2? (Choose two.)

A. Move the DB2 data files to a dedicated LUN and volume.

B. Enable FlexClone technology for DB2.

C. Move the log directory to faster storage.

D. Move the DB2 transaction logs to a dedicated LUN and volume.

Correct Answer: BD

QUESTION 2

A customer recently experienced a panic on one node of an ONTAP cluster. Prior to performing the giveback, they want

to know what caused the panic. You request data from the customer to assist Support in determining the cause of the
panic.

What information should be requested in this situation? (Choose three.)
A. panic string
B. Perfstat

C. core dump
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D. message logs
E. packet trace

Correct Answer: ACD

QUESTION 3

Two end-users are both connecting to the same SMB share, but end-user A sees different files and folders than end-
user B.

Which statement is correct in this scenario?
A. Access Based Enumeration (ABE) explains this behavior.
B. NetApp Storage Encryption (NSE) explains this behavior.
C. End-user A is authenticating with NTLM.
D. NetApp Volume Encryption (NVE) explains this behavior.

Correct Answer: C

QUESTION 4

Which two statements are true about epsilon in a 4-node cluster? (Choose two.)
A. Epsilon is used as a tie-breaker for determining a quorum.

B. Epsilon is automatically assigned to the first node when a cluster is created.
C. Epsilon is used for determining the up node in failover.

D. Epsilon is automatically assigned to the last node added to a cluster.

Correct Answer: AB

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html

QUESTION 5

Click the Exhibit button.
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vserver policyname ruleindex clientmatch rorule rwrule superuser

My SVIL cert 1 192.168.0/24 any never none
my svi cert 2 192.168.0.11 any any any

my sSvIL cert 3 @Gmynetgroup any any none
My SVIL cert 4 0.0.0.0/0 sSys krb5p none

An end user expects to have read/write access to a volume that has been mounted using NFSv3, but the end user is
only able to read. The end user\\'s IP address is 192.168.0.11. You decide to look at the export policy that is applied to
the volume in question.

Referring to the exhibit, which rule is applied to the end user?

A.3

B.2

C.1

D. 4

Correct Answer: C
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